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Select one correct answer to the following questions.

1. Which of the following correlations is "highest"?
a.-0.95

b. +0.8

c. 10.65

d.-0.35

-2. Which of these is a psychological construct that a researcher might want to study:
a. Height
b. Hair color

c. Happiness
d. Date of birth

3. Which of the following terms is closest in meaning to the term "standard error?"
a. Computational error

b. Sampling error

c. Standard score

d. Standard deviation

4. Who is ultimately in control of the level of significance associated with any use of the
hypothesis testing procedure:

a. The research subjects

b. The researcher

c. The journal's editorial board

d. The scientific community

5. The main difference between true experiments and quasi-experiments is the procedure of
a. random sample

b. randomly select

c. randomly assignment

d. random variable
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6. The researcher’s efforts to remove the influence of any extraneous variables that might have an
effect on the dependent variable is so-called

a. experimental control

b. statistical control

c. variance partition

d. treatment effect

7. The degree to which the results are attributable to the independent variable and not some other
| rival explanation is called

a. external validity

b. internal validity

c. criterion validity

d. discriminant validity

8. Which is the following statement that is not involved causality?

a. Cause precedes the effect.
b. Cause and effect must correlate,
c. No third variable involved.

d. Strong correlation coefficient is present.

9. Determine whether the given value'is a statistic or a parameter. In a study of all 2017
employees at a college, it is found that 65% own a vehicle. Choose the correct statement down
below.

a. Statistic because the value is a numerical measurement describing a characteristic of a
population. .

b. Statistic because the value is a numerical measurement describing a characteristic of a sample.
c. Parameter because the value is a numerical measurement describing a characteristic of a
sample.

d. Parameter because the value is a numerical measurement describing a characteristic of a

population.

10. Which is the following statement about covariate that is not correct:
a. A variable is a covariate if it is related to the dependent variable.

b. Covariate can be used as a control variable.

c. Covariate is always continuous.

d. Covariate is always observed; you just measured what is there.




G 375 BRIZERIAER 107 B4 O A AU
%P7 HEWEFR
EHFE : HHERERA ZELEHE 0 02050 ik ¢ 1
EIH H2H

= BELE (30% BE5 5 HARAREFDE)
3 &R (purposive sampling)
AR/ B ERE (thick description)

F KXW (semi-structured interview)
BE £ (field notes)

BRI Z Li#E (observer-as-participant)
% -84 4%4% (member check)

= wikE (20%) -
TR ERERBRTEELRERENHE T RAHELAE T ERENKERER
6 AETFEY - ) ZAKFRERLESHF > o LileyhifiR?
CHERAFARGZ N AEZAFREEN TEE ) WEB SRR TFRA R RE
HESEEFESERETHEHE? (10%) .

2. MRFG M EFEHANEN  RBTEENETRITREAE? (10%)






